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REAL CHAMPS -



The HCF of two numbers is 98 and their LCM is 2352. The sum of the numbers may 
be ?
दो संख्याओं का एचसीएफ 98 है और उनका एलसीएम 2352 है। संख्याओं का 
योग हो सकता है?

1)1078
2)1398
3)1426
4)1484



Two boats A and B start towards each other from two places, 150 km apart. Speed of the boat A 
and B in still water are 16 km/hr and 14 km/hr respectively. If A proceeds down and B up the 
stream, they will meet after ?
दो नाव A और B 150 ककमी की दरूी पर स्थित दो थिानों से एक दसूरे की ओर चलना शुरू 
करते हैं। शांत जल में नाव A और B की गतत क्रमशः 16 ककमी/घंटा और 14 ककमी/घंटा है। 
यकद A नीचे की ओर बढ़ता है और B धारा के ऊपर जाता है, तो वे बाद में तमलेंगे?

1)4.5 hours
2)4 hours
3)5 hours
4)6 hours



In the given figure, ∠ONY = 50° and ∠OMY = 15°. Then the value of the ∠MON is ?

1)30°
2)40°
3)20°
4)70°



A and B entered into a partnership investing Rs. 16,000 and Rs. 12,000 respectively. After 3 
months, A withdrew Rs. 5000 while B invested Rs. 5000 more. After 3 more months, C joins the 
business with a capital of Rs. 21,000. The share of B exceeds that of C, out of a total profit Rs. 
26,400 after one year by ?
A और B ने क्रमशः 16,000 रुपये और 12,000 रुपये का तनवेश करके एक साझेदारी में प्रवेश 
ककया। 3 महीने के बाद, A ने 5000 रुपये तनकाले जबकक B ने 5000 रुपये और तनवेश ककए। 3 
और महीनों के बाद, C 21,000 रुपये की पूंजी के साि व्यापार में शातमल होता है। एक वर्ष के बाद 
26,400 रुपये के कुल लाभ में से बी का कहथसा सी से अतधक हो जाता है?

1)Rs. 2400
2)Rs. 3000
3)Rs. 3600
4)Rs. 4800



If selling price of two articles is equal. If first article is sold on 25% profit then at what loss or 
profit percentage be second be sold to have no overall profit or loss percentage? 
यकद दो वथतुओं का ववक्रय मूल्य बराबर है। यकद पहली वथतु को 25% लाभ पर बेचा जाता 
है तो पूरे व्यवसाय में कुल तमलाकर कोई लाभ या कोई हातन नहीं होने के तलए दसूरी वथतु 
को ककस हातन या लाभ प्रततशत पर बेचा जाए?

1)25
2)20
3)16 2/3
4)NOT



Copper and Zinc are in the ratio 2 : 3 in 200 gms of an alloy. The quantity (in grams) of 
copper to be added to it to make the ratio 3 : 2 is ?
एक तमश्रधातु के 200 ग्राम में कॉपर और स्जंक का अनुपात 2:3 है। तांबे की मात्रा 
(ग्राम में) को 3 : 2 का अनुपात बनाने के तलए इसमें तमलाया जाना है?

1)150gm
2)100gm
3)120gm
4)125gm



A sphere is inscribed in a cubical box such that the sphere is tangent to all six faces of the box. 
What is the ratio of the volume of the cubical box to the volume of sphere ?
एक क्यूवबकल बॉक्स में एक गोले को इस तरह अंककत ककया जाता है कक यह गोला बॉक्स 
के सभी छह चेहरों पर थपशषरेखा रखता है। क्यूवबकल बॉक्स के आयतन का गोले के आयतन 
से अनुपात क्या है?

1)6π
2)36π
3)4π/3
4)6/π



If the expression x3 + 3x2 + 4x + k has a factor x + 5, then what is the value of k?
यकद व्यंजक x3 + 3x2 + 4x + k का गुणनखंड x + 5 है, तो k का मान क्या है?

1)–70
2)70
3)48
4)–48



A boat covers 24 km upstream and 36 km downstream in 6 hours while it covers 36 km 
upstream and 24 km downstream in 6  ½ hours. The velocity of the current is ?
एक नाव धारा के प्रततकूल 24 ककमी और धारा के अनुकूल 36 ककमी की दरूी 6 घंटे में तय 
करती है जबकक यह 36 ककमी धारा के प्रततकूल और 24 ककमी धारा के अनुकूल 6 1/2 घंटे 
में तय करती है। धारा का वेग है ?

1)1 km/hr
2)1.5 km/hr
3)2 km/hr
4)2.5 km/h



The top of two poles of height 24 m and 36 m are connected by a wire. If the wire 
makes an angle of 60° with the horizontal, then the length of the wire is ?
24 मीटर और 36 मीटर ऊंचाई वाले दो खंभों के शीर्ष एक तार से जुडे हुए हैं। 
यकद तार क्षैततज से 60° का कोण बनाता है, तो तार की लंबाई है?

1)6 m
2)8 √3 m
3)8 m
4)6 √3 m



In a family there are two children Navya and Reet. The ratio between the present age of Navya
and Reet is 5 : 6. After 8 years the ratio of their ages will be 7 : 8. Find their total age of Navya
and Reet after 10 years ?
एक पररवार में दो बच्चे नव्या और रीत हैं। नव्या और रीत की वतषमान आयु का अनुपात 
5:6 है। 8 वर्ष बाद उनकी आयु का अनुपात 7:8 होगा। 10 वर्ष बाद नव्या और रीत की कुल 
आयु ज्ञात कीस्जए।

1)66
2)60
3)45
4)NOT



If x = a (sin Θ + cos Θ), y = b (sin Θ – cos Θ)

then the value of (x2 / a2) + (y2 / b2) is

1)0
2)1
3)2
4)– 2



The sides of triangle are 3 cm, 4 cm and 5 cm. The area (in cm2) of the triangle 
formed by joining the mid-points of the sides of the tirangle is ?
वत्रभुज की भुजाएँ 3 सेमी, 4 सेमी और 5 सेमी हैं। वत्रभुज की भुजाओं के मध्य-
वबंदओुं को तमलाने से बने वत्रभुज का के्षत्रफल (सेमी2 में) है ?

1)6
2)2
3)3 / 2
4)3 / 4



If the compound interest accrued on an amount of Rs. 15,000 in two years is Rs. 
2,496, what is the rate of interest p.c.p.a.?
यकद चक्रववृि ब्याज रुपये की रातश पर अस्जषत होता है। दो साल में 15,000 रु. 
2,496, प्रतत वर्ष ब्याज दर क्या है?

1)8%
2)10%
3)6%
4)CND


